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Intro
Today we will 7”pa learn 7”1 97 of 37730 NYOH
Some of the topics we will learn about include.

Regarding nm»y;

The mmR, or IR, the negative commandments, are all in
IR nwo; and

The pwny, the punishments, are all in owyTR NWID;

And the Gemara cites the sources for the 797R, and the
wny, of

DR 5V Ran

AR WK 5M

DROM 12
One who transgresses 2w1 a 8> which carries the penalty
of nI> or 7 2 Nk, must bring a NRLVM 1297,

mron M>n

If one commits »nw2 a transgression punishable with 7r»
that has two 8, he brings two nxon miaip, one for each
RO,

The two Machlokes o»om nmim 110

1.

Regarding

IR NV VIR NOR

If she was both his mother and his father’s wife, does he
bring a second Korban for the X5 of var nwr?

2.

Regarding

PIR NWNR

Does he bring a second Korban for the x> of R nwr?

The sources for wny and nmr regarding

o1 SV KA

Rleash PNl

If a man had relations with another man, or with an
animal.

The distinctions between 201w, the one who performed the
act, and 10wy, the passive one.

The Machlokes X2°py "2 SXpnw 217 regarding the source
for 20w,

The Machlokes »ax1 172 *27 in SRYHW? °27's source for
ab 10w,

DafHachaim.org

"y
PONY - MINTR

nwis nwis
DT nm» NN

xRN Yy Ran
aARN DWRK 5M
WY - NINTR

nROVN 129

PN - DT/’ D)

MR RNW PIAR NOR
AR NWR

TOTN YY Ran
NNNIAN HM
NINIR - WY

2JW) - 21V

APPY P - ,@)ﬁ/ér =Y
The source for 20w2.

LS IDRE DI
SRvpw 127’s source for
nNN2Y 2OW)
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So let'sreview ...

The Gemara cites a Braisa with the source for the
Mishnah’s Halachah of

DR 5Y RN

AN DUR HM

>poa

The Pasuk of wa in owiTp Nw1o states
92 PR MY PIR DWR IR 200 TOR WR)
D2 07PT OIW DY T

The word w’X minimizes
ToPb VI
A op does not get nn'» for Mt with Par nwx.

The following are included in the words

VIR DUR

DR RFV IR DUR P2

DR ROW IR NUR P

His father’s wife that was also his mother, and his father’s
wife that was not his mother, a step-mother;

However, this does not include

PIAR DWN IR IOR

His mother that was not his father’s wife;

This is derived through a mw 773 from the W to the
TR

The Pasuk here of wny states

153 VAR 1Y

And the Pasuk of 797tR in »InR nwAo states

RO77 IR 7920 KD JOR 7Y PAR 1Y

Just like the 1Y includes 1x that was not 2R nwR, as the
Pasuk specifies o8 m17, so too, the wi also includes X
IR NWK NPRY.

The words nny min refer to n>po;
Because there is a mw 7713 to N7 IN;
As the Pasuk here concludes with
Da07nT

And the Pasuk of 'my7) 218 says

D2 DT DR Y JAR

nPivivalbipRyia)
75 P01 18I IR

DafHachaim.org

Wwwxw/cr the Wm'yﬁawaﬁzof
SN7 PN 5 o Oy 8o
mo'poa
NP
PEN TN TN ZoR miN PN
=25 PaN b
oS Y
fmj = gm I

ION NNY IR NPN P2
DR Rbw IR NN P

//w/afw "y wille that was albo his mother,
M/m%w s w%&
that was nat his mather, & y‘e/w mather;

JoPb VI

However, thisy doess not include
PIN NDWN NDINY DN

His mother that was not his father’s wife;

The Pasuk o% 21954 states
T PIN P
Foim N AN
N7 AN 7
Just like thenb includes mR
that was not 12N nwR,

as the Pasuk specifies
DR PY,

The Pasuk of Gry Satey
=% rax e
So too, the waw

also includes
PN DN NINY DN,

PEN TN TN Toi =N N
= paN mm
oS v
o= oenRs
n>)D
Because there iy a >0 Prgs
z‘o//)/?f/ Y=

03 oS oy M fans
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The Gemara continues;

NYPY UNY

W TINR

And the source for the 18D of DR15Y Ra7;

And that one who transgresses »1w2 brings a nXom 127, is
in the Pasuk of 797 in »nx nwo,

RO7T PR 71930 RD TR MY PR MY

And 7ar mp refers to 77a8 NWR, a father’s wife, but not to
Wik PN, relations with a father himself, because of the
above mentioned mw 1 of

PIR MY

TaAR MW

F2TH NN MWRL N0 D

27D N7 MWR NI IR

Just like the wiy refers to Tar NWR, so too, the XY refers to
TIAR NWR,

Now, this X5 includes
MR RTW PIAR DWR P2

MR APRY PIR DUR P2
And the XY for

PIR NWUR AVRY DR

Is in the following words
1931 8D JOR MY

And the Pasuk concludes with

RO IR

The excessive words R’ 70X teach

12710 ANR DR DIWD

IR WK DN 1210 DR R

If she was both his mother and his father’s wife, he brings
only one nxvn 1277 for 11X but not for I8 NWN.

This is 777 *27's opinion in the Mishnah.

DafHachaim.org

NYHY WY
120 NN

And the source for the b of DRn bv Nan;
And that one who transgresses 11w2 brings a nRon 123p,
is in the Pasuk of mMnTR in NN HHo,

Foim KD AN e PaN mep
N*5 AN
And pan nnp refers to PaR DR, a father’s wife,

but not to wpn Pan,
because of the above mentioned mw ny1a of

TaN ™D - PAR TP

oD D
MR
72TV 20N

Just like the waw
refers to Pan nWN.

JND R
MPIN2
22TV 2NIN
So too, therbd

refers to Pan nwN.
Thig / includes

MR RINWY 17X NOKR P’

MR NIRWY PR NONR P’

And fﬁe//t//w
1PAR NWRKR NMIRWY IR

Is in the following words
DI N'D AN Fi EN
R AN

The excessive wordy ‘& " teach
12NN NHN DN DIVHD
AN DWN DIWN 12NN NHN'N)

If she was both his mother and his father’s wife,
he brings only one nNvn )23 for ik but not for an DWN.

This is DT 127’s opinion in the Mishnah.
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The o»on however disagree and say

IR WK DWW DR DWW 775V 271

He brings two nxon mi17p, one for 1x and one for nwx
12N, because they hold there is no mw 77 of
PAR MW

PR Y

And therefore

1530 RS PaR MY

Refers to wn» 7R but not to PR NWN;

And although there is already a X5 of

2OWN R 797 NN

onw YOy 2°m5
This Pasuk teaches that with a father there are two MmN,
and therefore, two Korbanos.

And according to the o»am the R for ¥ax nwx is in the
next Pasuk
1530 RS PAR DWR MY

And since there is no mw 17713, the WY for NWR IPRW IOR
1ar is through the words X771 7R

PAR NWR APRY VRS 110577 IRYY

VIR DUR RV DRI

The Pasuk considers 1mX that was not Par nwx like 1R that
was 2R NWR, and therefore there is an W like X'7w MR
VIR DR,

DafHachaim.org

The pon however disagree and say

DN DIWN by ann
AN DR DIYN)

He brings two nrvn mi23p, one forwn and one for 1an nwn,
because they hold there is no mw n»1a of

PEIXR TP - PIR TP
/fn/?%er%ar&
im XD PaN M

Refers to won pan but not to 1N nwR;

And although there is already a N5 of

ot N =t N

D'NW b IMND
This Pasuk teaches that with a father there are two nnnTN,
and therefore, two Korbanos.

And according to the pwon

Aoim X PN miN D
And since there is no mw Ny,
the wnw for nanr DWNR DR DN is through the words N o

MRY 2INON NRWYY
172X NWK NIRWY
1PAR NWKR RN ORI

The Pasuk considers mn that was not maR pwR
like R that was »an NN,
and therefore there is an wiaw like PaR DWR RNW DON.
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Regarding the x5 for

PP INRD PIR DR

His father’s wife even after his death, according to 17
a7 the XY is in the next Pasuk

720 RD IR NWR MW

While according to the oo this Pasuk was already used
for vax »m3, and therefore the X is in the Pasuk’s ending
RO PIR MW

While n 27 holds

N7 PAR MY

Comes to minimize

12770 AOR AR QYN DD

WR DUKR DIWN 12T IDNR R

For his father’s wife, there is only one nxon for 28 NWR,
but not also for v’x NwR,

While the o»on hold like our Mishnah
2R NWR Sy Ran
WRDUR DIV AR DUR DIWN 2N

Regarding the wny for

AR INRS VIR NUR

According to 77 °27 the wn is derived through the 77
mw of

PAR MW

PR Y

While according to the o'»on, that there is no mw 71, the
wny is derived from the Pasuk in o'wyp nw1o
93 PIR MY

Dedicated By:
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Regarding thenb for
NN INRY PR NONX

His father’s wife even after his death,

According to the pwon
thenb is in the Pasuk’s ending

N5 PaIN P

TN Y
Ain N aN

According ty the: ppton
thiy Pasuk wass alreao/y/
wsed /Zr 1RE PP,

AN DYN DIPD
127NN NNN
DIRP 127NN NNHN N
2N NYN

While the ppon hotd like our Mishnahs
27N 2R NWN by Nan
2N DYN DIPN) 2N DYN DIYD

Regarding the waw for
NN INRY 1Ak NWN

According to 3>
thewi is derived
through the mw n1a of

PINR TP
TN P

/focor/m?/ to the: ppon,
There is no mw N1a,
and theww is derived from

=8 paNn I
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The next Mishnah proceeds to elaborate on the list in the
previous Mishnah:

PRI 17 OR

The transgressions that are punishable with 75po;

Zugt Di Mishnah

01 5V KA

Amnan Sm

1202 NN DR RPN VR

If a man had relations with another man, or if a man or
woman had relations with an animal, both the person and
the animal are punished with n>po.

The Mishnah asks

ROM DTN ON

ARVM Y N2

Only the person sinned, but the animal did not sin, if so
why is it stoned?

The Mishnah answers;

17 5V MOPN DIRS IRIW 795 ROR

Because the animal was the cause of the person’s
transgression;

OR

PIWA NI AP RN RO R

77 5D 159 HP0Iw KT TIORN

If the animal was to remain alive this would cause
embarrassment to the person, as people will point and say
this animal caused so and so to be stoned.

5PON 21N IR J05

Therefore, the Pasuk requires that the animal also be
stoned.

DafHachaim.org

/PP po il
N2t 5P N3
maman 9
90D MHAMAN NN NN TN

If a man had relations with another man,
or if a man or woman had relations with an animal,

both the person and the animal are punished
with n5>yp.

?

N7 QTN ON
i g iptalyiatginl

Only the person sinned, but the animal did not sin,
if so why is it stoned?

The Wishnahy answers;
77 5Y mopN DN PN 55 NON

P2 N2 MMA NN 8O N
M55 Opoa N I 1NN
T oY

this would cause embarrassment to the person,
as people will point and say this animal
caused so and so to be stoned.

5pon 2N AN 7a'eb

Therefore, the Pasuk requires
that the animal also be stoned.
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The Gemara proceeds with a Braisa with the source for
M5V KA

>poa

The Pasuk in w17 nw1o states

FWR P1OWH 931 DR 10V’ JUR WNI

DA OHTINDNY M DIV VY 72VIN

WR
ToRY VIO
A minor boy does not receive r» for mit with a 9o1.

901 DR

ezalablyrltal

An adult gets 1 » for mit with another 75t even he was
only a minor.

TUR2DVD

TUR1 M2OWN W

One is liable for mi with a woman in two ways, 715775 and
119775 X5, natural and unnatural.

And although the Pasuk refers to 75t 2owi?

SRV’ 117 explains

05 R¥PN THHO R M0

Since the Pasuk is not needed for mit with a 901, because it
is always 73772 Rbw; the Pasuk comes to teach that even
for mat with a TwR one is liable 715777 XYW,

The words 1nmny mn refer to 1°7>0 because there is a n
MW to YT IR, as the Pasuk here concludes with the
words

D2 07nT

And the Pasuk of >»p7 2R states

D2 D7PPT DRIV AR

>poa oo
2P0 IR IR

NYNY UNY

I TR

And the source for the X5 of 321 20w», depends as follows:
The x5 for the 25w, the one who performed the act, is in
the Pasuk inanx nwao that states

N7 72010 JWR 20WN 10WnN K5 991 DN

Dedicated By:
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7OTN DY RN
ny'po2
WPW v plzp _nbo Mated
=of mx =oir =N 2N
WD Sam A minor doey
ﬂh”gw not receive

VAP A e
ninar. == ba iy b
DGR Ny 5

One s liable for mr with a
woman in two ways,
n2772 and n>172 RHY.

And although the Pasuk
refers to o1 20wn?

eyt 22 explainy

TP55 N2 AT "IN

/P2 3¢ o

Aw adilt gety
N fOr s
with %;noz%er

04 ewew a

Wﬁ%@/ fo 3/po
Because there is a mw n»1a to
DT 2N, as the Pasuk here
concludes with the words

j=j==laim !

And the Pasuk
of 1T 2N states

DI M fans
==R=raig~lu;
nN>pD2 )>nd n
N>PD N 9N

TS R¥DA
Since the Pasuk is not needed
for mor with aor, because
it is always n>372> NOY;
the Pasuk comes to teach
that even with anwr
one is liable 1772 Rbw.

NYNYW Wy
1720 NANTR

And the source for the b of 351 20w,
depends as follows:

Thenb for the
o) )

the one who performed the act, is in DR PRI
The pasuk statesy
=t IR
SN »Soin Sobm XD
N5 53D
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And regarding the x5 for the 15w3, the passive one, there is
aMachlokes

SRYHW? °37 says the X5 is in the Pasuk

ORI 320 WIP T R

The word wTp refers to 210w because the Pasuk in 0o5n
states

M W IR DA TIAVINA D32 WY PIR 770 0 TR 0N

wTp refers to a 7N

And the Pasuk of w1y in owTp nw1o states

DIPIW WY NN AWK 72OWH 19T NIR 10V TR VN

951 2>Wn is also considered a 72N

Therefore, just like the 7210 of w1 includes even the
20W3, 50 too the XS of WP 717 R includes the 20w

RYPY 317 says the kS for 150wi is in the same Pasuk as 15w
TR "1VN 1OWN RY 791 NN

2DWN R 1P

The word 25wn must be pronounced 210wn, which means
the passive one.

DafHachaim.org

Regarding thenb for the

20w

the passive one, there is a Machlokes

é)&vﬂ »)
And the Gy v plsp ptro The 1t/ s in the Pasuk
XSSP R PN e i N
=N »=oirn =of Bxﬁw» » i imym

DEs WH BEII Thewordwp refers to 20w
o1 20w is also Ay the Pasuk in pofy statess
considered a navn \t‘;ﬂx: iy fyyimim 1 iy

=t i
m=im= oo Wb

"% s

WTp refers to anavin

Therefore, just like the <
v of waw =
includes even the 2ow>.

So too therb of
WTp M RO
includes the 20w».

APPY DI
Thenb for 20wa is in the same Pasuk as 20w

SN >3t Soin KD ot
) /))) RD M2 "p

The word 2own must be pronounced 20w,
which means the passive one.
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The Gemara proceeds with a Braisa with the source for
AN Yy RIN

0027 DR ARNA TURM

n>poa

The Pasuk in 0"w17p nwIo states

DY M Anin1131N25W 10 TR OR)

12700 NN DR

WR
oPb V19

11

VP PA T P2

An adult gets nn > for relations with a 15773, even a very
young animal.

The words moy nw refer to 7>°po, because there is a 7770
7w to on;

The Pasuk here concludes with

I 0T DR

And the Pasuk of mon states

I DRI INOPOY I AN A7)

nPivivalpablyis)
pPirivalNehIN

2005 WY BT

oI 20w WY

This Pasuk is a source for 7>poa 101

And the source for 7501 20wi is in the Pasuk of nwo
DVOWNH

Y D P2 0Y 20w 5

20005 IV PR DR

20WI% PIVITIN

Since the Pasuk is not needed for 1502 201w, because this
was already derived from the Pasuk above; this Pasuk
comes to teach 7>poa 15V,

22w P22 pawny 1Id

I TIRR

And the source for the X5 depends;

The 185 for 201w is in the Pasuk in 1R nw1o
72 ARPOY INOW NN RS MR 5o

DafHachaim.org

WMWC&%&/‘
maran 5y Nan
FIISFISM N FINYIAN PN
mopoa

)Z.’J)”?P

The Pasuk in PP NS Males
Sanas mao e R N

Y A

T ===
/an/aﬁ?’/@fj ?/W’/df 1 . D) ,/')0
relations with & s, 7&-,:-‘:-‘ Because g / e

even & youngy animal.
7y 0 9755 T0_prop;

The Pasuk concludes with
=T anEE N

And the Pasuk o% oy Males
SARH praial ma ke
Y TSNS TSRO

v ) 4
N>pDA N 9N

% ). n>pp2a )bnd o

20109 WY NTNY
1230 25w WY

This Pasuk is a source for n>ppa 201;

And the source for n>ppa 20w
is in the Pasuk of Dwoswn nwio

AP v mans ob 2o ba
2515 pap 1R DR
20w15 pav an

because this was already derived from the Pasuk above;
this Pasuk comes to teach n»pp2 20w>.

WY NTNO
2OW1Y 122 2915 P2
120 NINTR

And the source for thenb depends;
Therb for 20w is in the Pasuk in NN npio

mas fmm 8D ais b
S ANab
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And regarding the 85 for 20wi there is a Machlokes:
1R "27 says according to YXp»W? 117, as before, the R is
in the Pasuk

ORI 130 WP T R

Since w7p is considered a 72y, and the Pasuk in nw1o
"INR concludes with

PIRTWIR WY TORT MAVING 92 PR 7D

All the ny1y which includes nmna mit are considered
7.

Therefore, just like the 7210 of n17Y includes even the
20W3, 50 too the 721N of W 7 RS includes the 1owa.

7R disagrees and says that w7p 777 XY cannot be a source
for a5 20w because

RVahRa bl

The Pasuk refers only to humans but not to animals, and
therefore,

According to SXpnw’ °39, the 1R85 for 215ws is in the same
Pasuk that refers to the wnp of 20w3,

Y T A2 0Y 100 53

2A0WY PIV IR DX

20V PIVITIN

And

20w PWHA 2DWIZ RIDAT TPOR)

The Pasuk calls 20w3 a 297 to make a wp’n, comparison,
from 2570 to 25w)

PN VIV W

PN WIY 2DWI R

Just like for 2101 there is a w1, and also a x> in the Pasuk
925w 1N RY A Som

So too for 20w3 there is an WY, and also a XY in the Pasuk
JN20W 1NN RS v o1

All agree that according to X2y »37 the X5 for 15w is in
the same Pasuk as 20w, in

020V NN RS

The word 7025w must be pronounced 025w which refers
to the 210w)

DafHachaim.org

And regarding theRb for 20w)

/DAL P
According to byvpw 1,
theNb is in the Pasuk

oAl e e TR
Since wTp is considered a navn,
and the Pasuk in nnR nwio concludes with

SoNS MEiE Do I D
P i T
All the nmp which includes npna mar are considered navn.

Therefore, just like the navin of nmMy includes even the 25w2,
so too the navn of wTp mim R includes the 20w

e
wTp M RS cannot be a source for npnab 25w because
20N> MI232
The Pasuk refers only to humans but not to animals,
and i%er%(/m,
According to SRppw1 133,
thenb for2ow» is in the same Pasuk
that refers to the waw of 20w,

AP e mans oh oo e
JJWJb ]2V 1’R DN
JDW.)b PV 1IN
Jnd

20w pwba 20w1b RIVM PPOR)
The Pasuk calls 20w a 20w to make awpn,
from 25w to 250w
MNTM WIY 20W)I ‘]N = INTN) WY 201w NP
Just like for 201
there’s awaw, and and
in the Pasuk

== oo
mast i N

So too for 20w>
there’s an wiw, and aRb
in the Pasuk

maia oo
Jmas frm N

All agree that according to Npv 127
thenb for 20w is in the same Pasuk as 20w, in

masl fnn N
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The Gemara now proceeds with a discussion regarding
20w and 20w3.

1.

M 5V A7

728 Py Ram

If a male was both 201w and 2ow3 with another male xw3;
J7AR 17 says

SRYPY? 117737

[mpiaitolmktin]

According to YRy»w’ 217 he must bring two Korbanos
because there are two x5, one for 203w in the Pasuk of
2DYUN R

And one for 20w1 in the Pasuk of

wIR T RS

i Rakh )

DNR ROR 277K

While according to X2’py 27 he brings only one Korban,
because there is only one X5 for both 221w and 20w1 in the
Pasuk of

1OWN RO

Similarly,

2.

20 Y Ran

POV v Ram

If a person was both 107w and 210w1 with an animal;
AR 117 says

oNW 271 SRYHDY? 1277275
One for 201 in the Pasuk
20w NN R

And one for 210w3 in the Pasuk
WIp Y R

While

AR ROR 271 1PR RPY 232717277

Because there is only one X5 for both 257w and 1ow3 in the
Pasuk of

020V NN RS

While »ar says according to both Sxynw? *27 and R2pY 27
AR ROR 271 1R

Because there is only one X5 for both 257w and 1ow3 in the
Pasuk of

020V NN RS

DafHachaim.org

The Gemara proceedy with o discussion regarding
o/l and 234,

1z

701N HY RaN
TOT 1YY RAM

If a male was both 20w and 2ow) with another male 221w2
IDRE 7RI
v
S5zvpw» 137 7T

D'Nw 2N

»HMITH
NNXR RYR 277 1R

He brings only one Korban, He must bring two Korbanos
because there are two pIND,
one for 201w in the Pasuk of
=o'
And one for 20w)
in the Pasuk of

= i ND

because there is only onerb
for both 22w and 25w
in the Pasuk of

=i XD

2

NNN2N YY RaN
19 ANNa R1AM

If a person was both 20w and 25w with an animal;
/DAL D)
v
SNppw? 127 NITD

0 Nw 2N
One for 20w in the Pasuk
mEs fmm N

And one for 15w

in the Pasuk

=i i XD

NpY 1) NITH
NNR RIR 22N 1R

Because there is only
onenb for both 201w and 25
in the Pasuk of

mas N

e
/fccor/m?/ ty both
NPY 127 - DRYPY 1)
NNR ROR 277N 1R

Because there is only onerb for both 22w and 25w>
in the Pasuk of

mas frm NS
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